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(a=b)2+(bh-c)?+(c-a)?=0

La=b=c
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S WET o), 24, B] = 07 22 o5 2te 227

@2x3+5x2—6x—9 @ x*4+4x2-2x-7
® x> -3x2+5x-1 @ 3x°-x>+2x-1
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@ ok f(x) ol tHoke] x = 0,-1= HHASHA £(0) = f(-1) =
0

@ tFdA] g(x)ofl thoto] x = 1,-12 YA g(1) = g(-1) =
0

® thHA] h(x) ol tiste] x = 0,1 HYSHA h(0) = h(1) =0

@, ©, L =2HE

f(x),8(x), h(x) o] HH5F+E Gt 514

f(x) =x(x+1)G, g(x) = (x=1)(x+ 1)G, h(x) = x(x—1)G

o (%), 8(x), h(x) o] FagulaE

x(x+1)(x-1)G = (x-1)f(x)




47.

g(1) = 09182 g(x) & x-18 A42 ek 294
st
112 —(@+2) -a 2a

g(x) = (x = 1)(2x2 — ax - 2a)
f(x)=(x=1)(x+1)(x+2)°]EZ
HFFrE (x- 1) (x+1) B (x-1)(x +2)
1) (x=-1)(x+1) 4 of

2(-1)2 —a(-1)-2a =014 a =2
sogx)=2(x-1)(x+1)(x-2)

i) (x-1)(x+2) & o
2(-1)2-a(-2)-2a=0-8#0

1), i) oA
g(x)=2(x-1)(x+1)(x-2)°]L a=2




48.

o Alp7E 191 Al o] AH4] A, B, C7F tha Al 23S B

w, o34 AL

Au}
—

=
=

A A, BY] Hf5Fy= x + 10]th
© B, C9] HY-FFFE= x - 20]t}
2~
T

© A, €9 FagH)

@ x2-x-2

@x2+4x—|—3

@ x2+5x+6 ® x24+2x-3

B

st

A, BY Hgey=x+ 1082
A=a(x+1), B=b(x+1)

B, C 9] Hdl3oFr=
B=(x-2)(x+1), C=c(x-2)

A, €9 HagHlee

¥ +2x2-5x-6=(x+3)(x-2)(x+1)
webd 4, €9 AL (x4 3) ol
A=(x+3)(x+1)=x*+4x+3
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@ 6 )3 ® 0 @ -3 ® -6

f(x)+8(x) =x{2x® + (a+b)x+ 2} = G(k + )
fx)—gx)=(a=-b)x* +2x-2=Gk-1) (T, k1 AZL)
w =2x* = (a+b)x-2=(a—b)x*+2x-2
a-b=-2,a+b=-2

La=-2,b=0

Loh(x)=x*-x+1 o h(-1)=3




50. oA A(x) = 2% + pa® +3x+ 12 TP B(x) = 2 +gx + 322
U UM A S R(x) 2 52E B(x) & R(x) @ HdlEFE7x -1
o, R(2) o] 27

A=BQ+RIM A, B2 G.CM.T}B, RO G.C.M. & AA|gtet,
(& Euclid SAW)

IHB2 x - 12 A(x), B(x) 2] 3oFro|th

s A(L) =00°lA p=-5,

B(1)=0°l4 g=-4

2 =5x2 +3x+1=(x —4x+3)Q(x) + a(x—1)

P x =32 HYUSHH 8=2a .. a=—4

S R(x)=-4(x-1) .. R(2)=-4




